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Options:
1)8

2)10
3)12

4)16
Correct Answer: 12

Candidate Answer: 12

QIiD:3-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘M’ can
be represented by 10, 56, etc., and ‘R’ can be represented by 40, 99, etc.
Similarly, you have to identify the set for the word “TONE”.

U QPG hael TH HEAT-EAE g/ geMtar wmar R, Sk v Rwedt A @
el T & eI T {1 Tdeut & B v gEr-adE HeRT & ar gt
gRT g Irw ¥, Star T U v &Y anegl # R Weyel & waEd 3R
ufeh &1 FEAr 0 F 4 ¥ IR IR H 5 F 91 37 IR & D AW
P Ugel A Ufh AR ag F TOEH W& gRT G S d@har @l
3eroT & fow M@t 10, 56, 31T GRT gRifAT ST ThaT ¥ GAT ‘R’ DY 40,
99, G ERT GRIAT ST FHhar ¢l W e d Jud wA # U e
“TONE” & fow @ & ugaEarn

Matrix-1 Matrix-ll
gl el
011234 5(6(7(8]|9
0|C|E|G]|I |K S|KIM|FIH|Z
1IM|O(Q|S|U 6|1 (B[O|J]|K
2|W[Y|[A|D|B 7|G|[QJA|L|V
3|H|J|L|N|P S8|E|H|Y|N|T
4|R|T[(V|X|Z 9|C|U|W|P|R

Options:
1) 89,11, 88,85

2) 41, 67,87, 01
3)41,11,34,85

4) 89, 67, 33,00
Correct Answer: 89, 11, 88, 85

Candidate Answer: 41, 11, 34, 85
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QiD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IR FHAA A T 3W IR AP @ gAw
o & oy sl BT &

AN

Options:
1

N

2)

3)

4

Correct Answer:

N

Candidate Answer:

N
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QID:5-

Which answer figure will complete the pattern in the
question figure?

Fld @ 3 AFla T HPHid & ufdsg & o
HIN?

&

?

N

Options:
1)

Z

N
-

T ﬂg =

Correct Answer:

Z

Candidate Answer:

7
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QID:6-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg e gdoT @ AB T@T W T@T oW, ar & TS

IR HHAA A B Fa @ AFpla v Fpa Hr
e ufafasa aef?

Options:
1)

2

€ &

3

~

4

3 1€

Correct Answer:

&

Candidate Answer:

it

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & Uy Fpfadl # REmw 3gER e @
AT B JUT W & aIE 98 Y I HF
S g om?

.-.&.-- o m

Options:
1)

&

2)

OO

3)

4

OO

Correct Answer:

&

Candidate Answer:

OO

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID: 8- If '-' means '+, '+' means X', '+’ means ‘—' and ‘x’ means ‘+, then
49-7%x63+2=?
e~ I 37+, '+ BT 3 X', '+ Bl 3 '~ qAT X' T 31 + B, Al

49-7x63+2=?

Options:
1) 65

2)78
3)76
4) 68
Correct Answer: 68

Candidate Answer: 68

QID:9-1f4x3x2x6=6234and6x3x1x2=2136,then9x4x7x1="?
AT 4x3x2%x6=6234TAT6x3x1x2=21368,AT9x4x7x1="?

Options:
1) 1479

2)9174
3) 1749

4) 9471
Correct Answer: 1749

Candidate Answer: 1479

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.
1.Ringer

2. Restore

3.Range

4.Rapid

5.Reptile

TrferRaa oregl I IregeIer 7 3T dTel ¥ & TR fered |
1.Ringer

2. Restore

3.Range

4.Rapid

5.Reptile

Options:

1) 34521

2) 43521

3) 34251

4) 43251
Correct Answer: 34521

Candidate Answer: 43521
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QID: 11 - In the following question,select the missing number from the given alternatives.
3,6,9,15,24,39,?

freferRad uyr 3 g 719 frspedl § I q@ 3is w1 FIQI

3,6,9,15,24,39,?

Options:
1) 57

2) 56
3) 58
4) 63
Correct Answer: 63

Candidate Answer: 58

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,PE,MH, J,KG,?7?
U 3T T&m 121 8, FORm 1 U6 ug i &1 &y 10 vt # 3 a8 |éI faseq Y, ST 319569 & [RTH|

B,RE,MH, JKG,?7?
Options:
1)0,B

2)N,D
3)L,C
4N, B
Correct Answer: N, D

Candidate Answer: N, D

QID : 13 - In the following question, select the odd word from the given alternatives.

FreferRad usy ¥ 1y 719 el # 3 forww g S g

Options:

1) Bottle

el

2) Liquid

GRGE

3) Vessel

T

4) Cup

E)

Correct Answer: Liquid
GRGE

Candidate Answer: Vessel

T

QID : 14 - In the following question, select the odd number pair from the given alternatives.

FreferRad uy % g 719 el # 3 forww Wz g =61 g1
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Options:
1) 43 -52

2)67-76
3)89 - 96
4)35 - 44

Correct Answer: 89 — 96

Candidate Answer: 43 — 52

QID : 15 - In the following question, select the odd letters from the given alternatives.

freferRaa wyr # Ay 719 frsheul # 3 forwr 1&gl 1 gy

Options:

1) DE

2) XW

3) ON

4 HG

Correct Answer: DE

Candidate Answer: DE

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Country, State, District

g NG gAY A T T 1y it & i 3 Weler BT FE FReTor Rt B
o1, o, fre
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Options:
1)

2)

3)

©

’)
©o

Correct Answer:

©

Candidate Answer:

©

QID : 17 - In the following question, select the related word from the given alternatives.

Factory : Production : : Hospital : ?
FrferRaa uyr 3 Ry 719 frspedl # 3 Heiftra vreg &1 gFGI

BRYFI : UG : : It : ?
Options:

1) Doctor

Tafpcas

2) Nurse

Gl

3) Treatment

QAR

4) Building

ELIEG)

Correct Answer: Treatment
SUEAR

Candidate Answer: Treatment
SUAR

QID : 18 - In the following question, select the related number from the given alternatives.
145:10::243:?

FreferRad vy 3 faQ Ty ferepedl # & Heifera W&z <1 gy

145:10::243:?
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Options:
)N

2)9
3)13

497

Correct Answer: 9

Candidate Answer: 9

QID : 19 - In the following question, select the related letters from the given alternatives.
BP:ES::NT:?

TreferRaa wer % oy 71y frepeul # I Heftra 31T &1 gyl

BP:ES::NT:?

Options:
1) PU

2) QW

3)Qv

4) PX

Correct Answer: QW
Candidate Answer: QW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

PITCHINGS
freferRad ferpedl # & ag weg 9T SN 3T 1Y 91eq & 31&RT o1 YA b TET SRIT ST HehalT|

PITCHINGS
Options:
1) SIP

2) CHIT
3) HINGS

4) HANGS
Correct Answer: HANGS

Candidate Answer: HANGS

QID : 21 - Weight of A is twice that of B. Weight of B is half of C. Weight of C is 3 times of E. Weight of E is half of D. Who is the heaviest?

AFHT YR B H ST IATEI B SHI VIR C HI MM E| CFHHR E HT 3 AT E1 E BT HR D FT 3T 31 TG AR S &7
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Options:
1A

2)C
3)D

4) AorC
A3 C

Correct Answer: A or C
A 3141 C

Candidate Answer: C

QID : 22 - The ratio of present ages of Sumit and Vikram is 4 : 3. After 5 years age of Sumit will be 25 years. What is the present age (in years) of Vikram?

GiHa a1 frshq Y IdHI Y 61 3UTd 4 : 3 31 5 T U1 AT H1 311 25 a9 g1 forshH H1 ad|i g (o §) o1 5?2

Options:
1)20

2)15
3)10

4)12
Correct Answer: 15

Candidate Answer: 15

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All cups are chairs.
II. No chair is table.

Conclusions:
I. Some cups are not tables.
Il. Some chairs are cups.

19 faQ T Uy # &g HAT 3R 76 A1 3T HUAT IR SR Fa Frewy fQy 717 &, Betifes ST Q=T sATd a2l fi=1ar 8 dehdl &1 i) Fsey ug i i FeiRa 3 f fag 1y
S 3 s, faQ 17 Ml & SR W IRpTd &

HYT:
. ¥t B HRIATEI
I1. IS T 7T TE B

frep:
|. $B HY I TE1 B
Il. Fg PRIATHTEI

Options:

1) Only conclusion (I) follows.

et sy (1) T B

2) Only conclusion (Il) follows.

eret Fshy (1) TET B

3) Both conclusion follow.

QI & frshd A 8

4) Neither conclusion (1) nor conclusion (11) follows.
T By (1) 78 s (1) wE1 8

Correct Answer: Both conclusion follow.

31 & e w1 1

Candidate Answer: Neither conclusion (1) nor conclusion (11) follows.

a1 frsepe (1) T 81 ey (11) w8 81
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QID : 24 - In a certain code language, "LIGHT"is written as"KHFGS". How is "SOUND" written in that code language?
U fARTe &g Wt ¥, "LIGHT" &1 "KHFGS" foran 51T 3 | 337 IS {191 # "SOUND" &1 foh Wb ferar Sirgamm?

Options:
1) RNTMC

2) RNTMD
3) RNSMC

4) RMTNC
Correct Answer: RNTMC

Candidate Answer: RNTMD

QID : 25 - In a certain code language, "RAM" is written as "160" and "SUN" is written as "270". How is "BUS" written in that code language?
U fIRTE s w11 ¥, "RAM" %1 "160" 21T "SUN" 1 "270" feTT SITdT 81 39 IS WINT # "BUS" &1 fohd Wb ferar Sirgamm?

Options:
1) 210

2)190
3)720

4) 1260
Correct Answer: 210

Candidate Answer: 210

QID : 26 - How many positive factors of 24 are there?

24 % ™ €T UGS B &7
Options:

Correct Answer: 8
Candidate Answer: 6

QID : 27 - What is the value of [(1.7)3 - (1.2)%] / [(1.7)2+ (1.7 x 1.2) + (1.2)4] ?

[(1.7)3=(1.23/[0.7)2+ (1.7 x 1.2) + (1.2)2] ST AH FATE?
Options:

4)0.7
Correct Answer: 0.5
Candidate Answer: 0.7
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QID: 28 -

What is the value of /7 + 4./3 ?

J7+ 43 @ T T 2

Options:
1)2-v3

2)2+v3
3)3+v3

4)3-v3
Correct Answer: 2 + v3
Candidate Answer: 3 + v3

QID : 29 - A number when divided by 72 leaves remainder 10. What will be the remainder when the same number is divided by 9?

Toh AT & ol 72 I 9T AT ST &, @ A9l 10 S9dT 31 9 ST 0&AT HI 9 I goia: foramfora S amg, ot et a=m g
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 30 - Which of the given value is exactly divisible by 30?

oG T¢ 9 % I 30 & guiaar: ot 22

Options:
1) 2530

2) 1570
3) 2370

4) 1520
Correct Answer: 2370
Candidate Answer: 2370

QID : 31 - How many numbers are there between 200 to 300 which are perfect cubes?

200 ¥ 300 & i faha~1 A=Y & i Y Qo 99 87
Options:

Correct Answer: 1
Candidate Answer: 3

QID : 32 - A and B together complete a work in 20 days. B alone can complete the same work in 60 days. They took Rs 36000 to complete the work. What will be the
share of A (in Rs)?

AT B fiera 35 SR 1 20 foi § T 6T €1 B 37ehelT 39 H11 & 60 a1 # qR1 62 Wbl &1 S8 36000 & % 3% &1 1 feram| A &1 feam () fopaen gm?

Options:
1) 18000
2) 24000
3) 26000
4) 22000
Correct Answer: 24000

Candidate Answer: 24000

QID: 33 - P, Q and R can complete a work in 20, 15 and 25 days respectively. P, Q and R together took Rs 9600 to complete the same work. What will be the share of
Q (in Rs)?

P, Q T=IT R {351 11 1 S69T: 20, 15 T2 25 f1 % QT R | 1 P, Q @7 R 7 sy 9600 T ¥ 3% HRI &1 OR1 foham| Q T f&T (% ) faar arm?

Options:

1) 4000

2) 3600

3) 3700

4) 3000

Correct Answer: 4000

Candidate Answer: 3600
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QID : 34 - The diagonals of a rhombus are 32 cm and 60 cm. What is the perimeter of the rhombus?

U aHEgo F frsot 32 AT a2 60 A M. 31 AHEger BT URHT =T 32
Options:

Correct Answer: 136
Candidate Answer: 136

QID : 35 - Three successive discounts of 20%, 30% and 20% are given, what will be the net discount (in percentage)?

20%, 30% TAT 20% I 1T it Fe <Y Tl 1 Fierer ge (Sfererd #) F4m grRi?
Options:

1) 43.76

2)55.2

3)70

4) 83.2
Correct Answer: 55.2
Candidate Answer: 55.2

QID : 36 - Marked price of an article is 50% more than its cost price. If a discount of 10% is given, then what will be the profit percentage?

Ueh ] ol Hfehd Yl 30 520 Yo A 50% AT &1 AT 10% I ge € STy, ol T 1 gfererd &1 grm?
Options:

1) 35

2) 40

3) 45

4) 30

Correct Answer: 35

Candidate Answer: 35

QID : 37 - The ratio of monthly income of x and y is 3 : 5 and the ratio of their expenditures is 1 : 2. If each saves Rs 5000 per month, then what will be the monthly
income of x?

X AT y T ATFRAS TRT T 31T 3 : 5 8 T2AT T H1 U 1 : 2 §1 Tl U2 5000 % UfIHTE B S T 8, AT x D ATRISH 3TRT <=1 BRi?

Options:
1) 25000
2) 20000
3) 18000
4) 15000

Correct Answer: 15000
Candidate Answer: 18000

QID : 38 - The ratio of four numbers A, B,Cand D is 3:7:8: 11 respectively. The sum of B and C is 25 more the sum of A and D. What is the value of (A + D)?

IR FEAT3T A, B, C TAT D HT UM HHI: 3:7:8: 11 Bl B AAT C HTANT A TAT D & IRTH 25 SATKI &1 (A + D) HT I FATE?

Options:
1) 350
2) 375
3) 250
4) 325

Correct Answer: 350
Candidate Answer: 250

QID : 39 - What is the average of first 12 natural numbers?

gl 12 YThferes HEait 1 iR =201 37

Options:
1)55

2)6
3)6.5

497
Correct Answer: 6.5
Candidate Answer: 6.5
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QID : 40 - If selling price is Rs 100 more than the cost price and profit is 20%, then what is the cost price?

e e Ged 52 Gl A 100 6 3TRIH § TAT o1 20% &, o 6 Yol 91 &7

Options:
1) 600
2) 1000
3) 800
4) 500

Correct Answer: 500
Candidate Answer: 800

QID : 41 - If selling price is Rs 840 and profit is 5%, then what is the cost price?

e s UedT 840 5 & TAT AT 5% &, A 6 Yol 9T 37

Options:
1) 750

2) 800
3)810

4) 900
Correct Answer: 800
Candidate Answer: 900

QID : 42 - If 20% of A = 30% of B, then B is how much percent less than A?

Ife AT 20% = B ST 30%, AT B, A 3 foha= uferera 9 &2

Options:
1) 20

2) 25
3)33.33

4)12.5
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 43 - If A is 20% more than B and C is 20% less than B, then C is how much percent less than A?

Ife A, B 20% 31fereh & 92T C, B ¥ 20% H9 &, @1 C, A I e ufora 9 872
Options:

1) 40

2) 44

3)33.33

4) 50
Correct Answer: 40
Candidate Answer: 40

QID : 44 - A train 150 metres long is running at a speed of 15 metre per second. In how much time (in seconds) it will cross a bridge of 300 metre long?

Tep 150 Hiex el Ye S 15 Hie? ufd Aehvs $i iy A Ieid g7 300 HIeX v iehiH I IR - § T qur (ddhei #) afi?

Options:

110

2)15

3)30

4) 45

Correct Answer: 30
Candidate Answer: 30

QID : 45 - A boat travels 16 km upstream in 4 hours and 12 km downstream in 6 hours. What is the speed (in km/hr) of boat in still water?

Teh AT RT3 31%el 16 b M. T 4 6 H T el B AT ORT & Uferdper § 12 6. W), g 6 5 a2 it B1 00 Sfel 3 71 1 7fey (.. /eier ) o= 37

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 2
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QID : 46 - A sum of Rs 5000 is invested at a scheme of compound interest. The interest rate is 20%. If the interest is compounded half yearly, then what is interest (in
Rs) after 1 year?

5000 ¥ 41 Yeh TN I Fehqfeg <ATST I ANSTT H F1aer f6am 712111 <191 3R 20% 21 AT <11 61 HANST S1garies g1, dY Uab ay a1 471 (3 W) fape=m gem?

Options:
1) 1000

2) 2200
3) 1500

4) 1050
Correct Answer: 1050
Candidate Answer: 1050

QID : 47 -
The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

A & o€ afere & 5 goE W 4 Rf¥ew awgat
fora gom (@fF.an. &) & gt m §

Selling Price (in Rs/kg)
o e (Ffs.an. )
Item | Shop1 | Shop 2| Shop 3| Shop4 | Shop 5

a&] %EFIH1 WZ Q?FIFI'3 %EFIFI'4 %'GFIH5
A
B
C

10 12 14 I 13
21 20 22 21 21
18 12 14 15 17
D 20 20 19 19 20

If a customer purchases 2 kg quantity of each item from Shop 2, then what is the total selling price (in Rs)?

If IS UTgeh g 2 I Yo ag HY 2 6.1, 91 @diqan g, af Fef fIs 4o (5 9) a2 2

Options:
1) 128

2) 164
3) 140

4) 132
Correct Answer: 128
Candidate Answer: 128
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The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

A & 7€ afere 3 5 gwEl W 4 Rf¥ew awgat &
foera oo (/fF.am. &) @ gt m &

Selling Price (in Rs/kg)
fama e (@i 3)
Shop 1| Shop2 | Shop 3 | Shop4 | Shop 5

Item
a&g | g 1 ga;la2 gaﬂa3 g?sla4 g?mas
A
B
C
D

10 12 14 11 13
21 20 22 21 21
18 12 14 15 17
20 20 19 19 20

If a customer purchases 3 kg quantity of item A from each shop, then what is the total selling price (in Rs)?

e U I a¥g A 1 3 6.1, W1 U g W Eiiear 8, @ Fot ok 1 (B ) R E?

Options:
1) 140

2)120
3)180

4) 160
Correct Answer: 180
Candidate Answer: 180

QID:49-
The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

#rr & 718 arforee # 5 g@Et W 4 Rfdew awgat &
fosra gom (@fF.am. &) & g mm #)

Selling Price (in Rs/kg)
o e (Ffs.an. )
Shop 1| Shop 2| Shop 3| Shop4 | Shop 5

Item
q&] | gbled 1| gablet 2 | i 3 | ghldd 4 | ghl 5
A
B
C
D

10 12 14 11 13
21 20 22 21 21
18 12 14 15 17
20 20 19 19 20

What is the average selling price (in Rs/kg) of item C?

TG C T AT o e (/1.7 ) Fm g2

Options:
1)16.8

2)15.2
3)14.6

4)13.8
Correct Answer: 15.2
Candidate Answer: 15.2
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The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

A & 7€ afere 3 5 gwEl W 4 Rf¥ew awgat &
faera o (F/fF.am #) & g mr &

Selling Price (in Rs/kg)
fawa I (Ffe.am. &)
Shop 1| Shop2 | Shop 3 | Shop4 | Shop 5

Item
a&g | g 1 g?sla2 gaﬂ?m g?ma4 g?BIHS
A
B
C
D

10 12 14 11 13
21 20 22 21 21
18 12 14 15 17
20 20 19 19 20

If one kg of each item is purchased from each shop, then which shop will have the least total selling price?

AfE TP I T Ueh 6.1, Ueeh oI TIGT SATY, A1 I ) 1T T el 16 Yo eIy 67 GRIT?
Options:

1) Shop 1

qh 1

2) Shop 4

P 4

3) Shop 2

b 2

4) None of these

ST | IS TE

Correct Answer: Shop 2
P 2

Candidate Answer: Shop 4
P 4

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

It comes with (1)/ her own challenges (2)/ for a person. (3)/ No Error (4)/
Options:
N1

Correct Answer: 2
Candidate Answer: 4

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Need no worry, (1)/ these tips will help (2)/ you to optimize your work. (3)/ No Error (4)/
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 2

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Rohan preferred baseball _____ any other sport.

Options:
1) to

2) than
3)on
4) against

Correct Answer: to
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Candidate Answer: on

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

I have lived in Gujarat

Options:
1) since seven year

2) seven years ago
3) for seven years ago

4) for seven years
Correct Answer: for seven years
Candidate Answer: since seven year

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Index

Options:
1) Disorder

2) Neglect
3) Dismiss

4) Guide
Correct Answer: Guide
Candidate Answer: Neglect

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Amend

Options:
1) Impair

2) Alter
3) Reduce

4) Worsen
Correct Answer: Alter
Candidate Answer: Reduce

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Testify

Options:
1) Announce

2) Deny
3) Veto

4) Negate
Correct Answer: Announce
Candidate Answer: Deny

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Nobel

Options:
1) Wellborn

2) Gentle
3) Servile

4) Kingly
Correct Answer: Servile
Candidate Answer: [ NOT ANSWERED ]

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Applause
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Options:
1) Acclaim
2) Cheers
3) Criticism
4) Praise
Correct Answer: Criticism
Candidate Answer: Criticism
QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Candid

Options:
1) Fair

2) Deceitful
3) Genuine

4) Sincere
Correct Answer: Deceitful
Candidate Answer: Genuine

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Over head and ears

Options:

1) Nearer

2) Completely
3) Alert

4) Obsolete

Correct Answer: Completely
Candidate Answer: Obsolete

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On one's guard

Options:
1) About to fall

2) To be careful
3) To be not in proper order

4) Cause of somebody
Correct Answer: To be careful
Candidate Answer: Cause of somebody

QID : 63 - Improve the bracketed part of the sentence.

My boss suggested (me to take a) off.

Options:
1) that | should take a

2) that | should take an
3) me taking a

4) Not improvement
Correct Answer: that | should take an
Candidate Answer: me taking a

QID : 64 - Improve the bracketed part of the sentence.

He complained of (having harassed) by the court of law.

Options:
1) harassed

2) been harassed
3) having been harassed

4) Not improvement
Correct Answer: having been harassed
Candidate Answer: having been harassed

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Reduction in tax or debt
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1) Rebate
2) Estimate
3) Preface

4) Ransom
Correct Answer: Rebate
Candidate Answer: Estimate

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Resulting in death or ending in disaster

Options:
1) Dessert

2) Erratic
3) Fatal

4) Epicure
Correct Answer: Fatal
Candidate Answer: [ NOT ANSWERED ]

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Innocent

2) Inocennt
3) Innocant

4) Ennocant
Correct Answer: Innocent
Candidate Answer: Innocant

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Leneint

2) Linient
3) Lenient

4) Lenent

Correct Answer: Lenient

Candidate Answer: Leneint

QID : 69 - Rearrange the parts of the sentence in correct order.
The moment a

P: new word is coined

Q: it enters the
R: the spoken language

Options:
1) PQR

2) QRP
3) QPR

4) RPQ
Correct Answer: PQR
Candidate Answer: QPR

QID : 70 - Rearrange the parts of the sentence in correct order.
Venice is
P: the north of Italy

Q: beautiful city in
R: a strange and

Options:
1) QRP

2) RQP
3) QPR
4) PRQ
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Correct Answer: RQP
Candidate Answer: PRQ

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. _______in one’s
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

We need to create a system

Options:

1) turbulence

2) heavy

3) strict

4) balanced

Correct Answer: balanced

Candidate Answer: balanced

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. in one’s
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

through the mother tongue

Options:
1) imparted

2) taught
3) Bought

4) brought
Correct Answer: imparted
Candidate Answer: brought

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. in one’s
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

_______inone's mother language is very
Options:

1) Thinking

2) Dancing

3) Studying

4) Listening

Correct Answer: Studying

Candidate Answer: Listening

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. in one’s
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

It a feeling of love and

Options:
1) originates

2) develops
3) Create

4) exploits
Correct Answer: develops
Candidate Answer: Create
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QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. in one’s
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

A person would be _______ of his own cultural

Options:
1) devoid

2) employed
3) avoid

4) ignored
Correct Answer: devoid
Candidate Answer: avoid

QID : 76 - Banking comes under which sector of economic growth?

A Jary 31 TR % 35w &7 & aiaia i 8?2
Options:

1) Primary sector

rIfi g

2) Secondary sector

fediore 9%

3) Tertiary sector

it &6

4) Quaternary sector

IGUFTICHS QD

Correct Answer: Tertiary sector
IS g

Candidate Answer: Quaternary sector

AGARTICHS &5

QID : 77 - Which of the following economic activities comes under primary sector?

I. Fishing
1. Dairy
11l. Agriculture

fereferRad ¥ I I A anfies MRt urerfies &= & siqfd 3 32

|. W
.39

. gy

Options:

1) Only |

e |

2) Only Il

et Il

3) 1, Il and 1l

I

4) Both 1 & Il

| &2 1| 3t

Correct Answer: |, Il and IlI
|

Candidate Answer: |, Il and IlI
I i

QID : 78 - In which of the following legislation can be initiated?

freferRad ¥ I a1 B SFT T URTa U9 fohT oI b 37
Options:

1) Only Lok Sabha

HeIel elidh T

2) Only Rajya Sabha

Herel o T

3) Both Lok Sabha and Rajya Sabha

AT T T2AT X5 THT ST

4) Neither Lok Sabha nor Rajya Sabha
EGIGIEAKIE R R

Correct Answer: Both Lok Sabha and Rajya Sabha
elieh T 2T 1T FAT QT

Candidate Answer: Only Lok Sabha
helc cileh THT
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QID : 79 - According to which fundamental right 'human trafficking' is prohibited?

T Hifetsh SRR & Tad | AR 8 87
Options:

1) Right to Equality

AT T ARTHR

2) Right against Exploitation
0T & o g SRR

3) Right to Constitution remedies
AT SUER 1 STRIHR

4) Cultural and Educational Rights
ATEpideh 3R eTfore SR

Correct Answer: Right against Exploitation
MY & v g THR

Candidate Answer: Cultural and Educational Rights

AiRpfereh 3R AETfOTe ARIBR

QID : 80 - Who gave the slogan 'Do or Die'?

T AT 7Y T TRT 64T feam am?
Options:

1) Bhagat Singh

W Rig

2) Subhash Chandra Bose
JUTY I T

3) Jawahar Lal Nehru

STTER ellel 5o

4) Mahatma Gandhi

HETCHT TR

Correct Answer: Mahatma Gandhi
HETCHT TR

Candidate Answer: Jawahar Lal Nehru
ST Tlel 166

QID : 81 - Who was the first Mughal Emperor in india?

WRT H T el ATHS I AT?

Options:

1) Babur

CICES

2) Balban
CECE)

3) Umar Shaikh
IR AT

4) Humanyun

LD
Correct Answer: Babur
CICKS

Candidate Answer: Babur
CICKS

QID : 82 - What is the approximate distance (in million km) of the Sun from the Earth?

2 Y gt e o (Riferar fop A1, ) o 32

Options:
1) 150

2)98
3)128

4) 180
Correct Answer: 150
Candidate Answer: 98

QID : 83 - Which is the largest continent by area of Earth?

el % 3T IR G2 T T I3T HETEIT P A1 32
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l)pAustralia

3reeferan

2) Asia

ol

3) North America

A SRS

4) Africa

3R

Correct Answer: Asia
R

Candidate Answer: Asia

iR

QID : 84 - Roots absorb water and _____ from the soil.

oIS fredl A ST d _____ T SN ¥ 32

Options:

1) Minerals
ot

2) Proteins
o

3) Carbohydrate
PreTBHIC

4) Fat

CLil

Correct Answer: Minerals

EcIR

Candidate Answer: Minerals

Gt

QID : 85 - Which body part of fishes helps them to change directions and keep their body balance in water?

TRferl & IR T B AT N I8 el P 31eX fa2IT TRTe g Hger S-1Y Y& i AT e &7
Options:

1) Fins and tails

LicGRIRE]

2) Fins and scale

UG qAT e

3) Tails and scale

U 20T Aesh

4) Gills and fins

et q2r v

Correct Answer: Fins and tails
REGRIRE]

Candidate Answer: Tails and scale
U q2AT e

QID : 86 - Which disease is caused by deficiency of vitamin C?

TereTieT 3 1 41 3 HROT B A SHRT Bl 32

Options:
1) Pellagra
YeTrm

2) Anemia
TR

3) Scurvy

=t
4) Night blindness
e

Correct Answer: Scurvy

T

Candidate Answer: Scurvy

T

QID : 87 - Which mirror has a very wide field of view?

9 I U SAfITIS &7 T U0 STaeliiehd gl &7
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ions:

l)pConcave

3qdel

2) Convex

3del

3) Plane

qHdeT

4) None of these

ST A IS TE

Correct Answer: Convex

3del

Candidate Answer: Plane

qHdel

QID : 88 - What is the unit of conductance?

YATESHd 1 SIS T &2
Options:

1) ohm™!

3!

2) ohmmeter

e

3) rho

kil

4) ampere

TR

Correct Answer: rho

U

Candidate Answer: ohm’!

af!

QID : 89 - In computers the data is stored in which forms?

HIER ¥ 1T TF = ¥ FET BT &2
Options:
1) Octal

3Tel

2) Hexadecimal
TR

3) Binary
T

4) Decimal

e
Correct Answer: Binary
T

Candidate Answer: Hexadecimal

FFATSATT

QID : 90 - Which is the most abundant metal in the earth's crust?

ot I e T YR AT H TG B W 2

Options:
1) Iron

gt

2) Silver

g

3) Aluminium
e
4) Copper
GIci

Correct Answer: Aluminium
ety

Candidate Answer: Aluminium
gtz

QID : 91 - Which metal melts in the palm?

I T &7 Belt ¥ fireret i 3?2
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1)pPlgtnass'sium

iR

2) Sodium

NilERL)

3) Magnesium

4) Aluminium
YegfifRrT
Correct Answer: Sodium

|AifsTH

Candidate Answer: Potassium
QR

QID : 92 - Nitrates, Phosphates, metals are examples of which type of impurities in sewage?

5ee, Hivthe, TGY fE AT 7t ¥ Ry TR $I rgfga & Igrawor &2
Options:

1) Organic

Pl

2) Inorganic

3D

3) Nutrients

qiYeh dcd

4) None of these
JWRIh H A IS T

Correct Answer: Inorganic

IFETH

Candidate Answer: Organic

FED

QID : 93 - What is Pradhan Mantri Jeevan Jyoti Bima Yojana?

e oA Safer ST JoT 9 7
Options:

1) A health insurance scheme

Teh T 91 o1

2) A financial inclusion scheme

e e 1T e

3) A life insurance scheme

e Sile ST ST

4) A accident insurance scheme

ep g1 ST FSHT

Correct Answer: A life insurance scheme

T ST 9T AT

Candidate Answer: A financial inclusion scheme
T ferR I TS Ao

QID : 94 - Who among the following invented Electric Motor?

T % 3 o5 serferees WleX &7 sifdsR faam?
Options:
1) Euclid

AfreTs

2) Sir Chandrasekhara Venkata Raman
IR FIER FeheAT

3) Michael Faraday

HTSehel RIS

4) John Dalton

Sl STeeT

Correct Answer: Michael Faraday
TShel TRTS

Candidate Answer: Euclid

IfreTs

QID : 95 - Who won the 2017 Men's Single Wimbledon Championship?

2017 Yo Y Yehel foidesT AR fah Sitdl 21?
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l)pRoger Federer

R He®

2) Andy Murray

W

3) Novak Djokovic

AT AT

4) Rafael Nadal

M TSTel

Correct Answer: Roger Federer
AR R

Candidate Answer: Rafael Nadal
el TSTel

QID : 96 - Hornbill Festival' which is also called 'Festivals of Festivals' is celebrated in which state?

BT hReaer FoRY ‘R & g’ At gl oiTelT &, 8T 1oy & W1 offaT &2
Options:

1) Bihar

R

2) Nagaland

ARTelS

3) Kerala

el

4) Karnataka

Fieh

Correct Answer: Nagaland

AFTAS

Candidate Answer: Nagaland

A S
QID : 97 - Who won the Man Booker International Prize 2017?

2017 B9 R S WISl fper ol &7
Options:

1) David Grossman

EICERIGEES

2) Arundhati Roy

STEIfer I

3) Arvind Adiga

3Rfeg snfem

4) Ruskin Bond

WHT divs

Correct Answer: David Grossman
EICERIGEE]

Candidate Answer: Ruskin Bond
WFT s

QID : 98 - Who is the author of the book named 'Indian Parliamentary Diplomacy'?

SIS TIfelamid fETe iR AT YRdes & oiaeh/ TRl HIF &7
Options:

1) Meira Kumar

YRITHAR

2) L.K. Advani

ETeT ST SMTSAToT

3) Andy Marino

TS ARAT

4) Mamata Banerjee

RLGIEE T

Correct Answer: Meira Kumar
IRITFIR

Candidate Answer: Andy Marino

TS ARAT
QID : 99 - What is the name of joint bi-annual military exercise conducted by India and Russia?

WRA AR & gRT HaTferd G fg-anfies =T 3ramd 1 1 =1 8?
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ions:

1)pVAJRA

aor

2) INDRA

3

3) CHAKRA

qsb

4) DHANUSH

a9

Correct Answer: INDRA
3

Candidate Answer: VAJRA
o0

QID : 100 - What is the economic bedrock of the India-Bhutan relationship?

WRA-YEH el T 3P EMR = &2
Options:
1) Hydro-electric Power Generation
-fertell SeqreT
2) Parliamentary Traditions
P ——
3) Fertilizers, Pesticides and Plastics
IR, HIEATIS 3R wies
4) Cement Industries
wAiiie JemT
Correct Answer: Hydro-electric Power Generation
T-RrStel) SeureT
Candidate Answer: Parliamentary Traditions
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